
Schmitt & Ongaro 

Item Number
Description

10000 Horn Button,Momentary, Red. Rated 

up to 15 Amps (65-05) X
10001 Mini Compact Dual (65-05) X
10002 Mini Compact Dual Horn, Stainless 

Steel, 12 Volt (65-05) X
10009 Deluxe Stainless Steel Shorty Single 

Trumpet Horn (65-05) X
10012 Deluxe Stainless Steel Shorty Dual 

Trumpet Horn (65-05) X
10025 Single Standard Trumpet, 12 Volt 

(65-05) X
10026 Dual Standard Trumpet, 12 Volt (65-

05) X
10027 Deluxe Stainless Steel Single 

Trumpet Horn, 12 Volt (65-05) X
10028 Deluxe Stainless Steel Dual Trumpet 

Horn, 12 Volt (65-05) X
10035 Mini Compact Horn Single, 

Standard, 12 Volt (65-05) X
10036 Mini Compact Horn Single, Stainless 

Steel, 12 Volt (65-05) X
10050 Mini Drop-In Horn Single, Stainless 

Steel, 12 volt, Lo Pitch, with 

Stainless Steel Grill and Wires (65-

05) X
10051 Mini Drop-In Horn Single, Stainless 

Steel, 12 volt, Hi Pitch, with 

Stainless Steel Grill and Wires (65-

05) X
10055 Mini Drop-In Horn Dual, Stainless 

Steel, 12 volt, Hi & Lo Pitch, with 

Stainless Steel Grill and Wires (65-

05) X
11031 Mini Hidden Compact Horn, 

Standard, 12 Volt (65-05) X
11032 Mini Hidden Compact Horn, 

Stainless Steel, 12 Volt (65-05) X
11033 Hidden Drop-in Horn only Lo Pitch 

(65-05) X
11034 Hidden Drop-in Horn, Hi Pitch, 12 

Volt, Bulk Pack (65-05) X
11038 Grill for Mini Drop In, Stainless Steel 

(65-05) X
11038-1 Grill for Mini Drop In, Stainless Steel - 

NO LOGO (65-05) X
11039 Dual Wire Disconnect for Mini Drop 

Horns  (65-05) X
12427 Deluxe Stainless Steel Single 

Trumpet Horn, 24 Volt (65-05) X
12428 Deluxe Stainless Steel Dual Trumpet 

Horn, 24 Volt (65-05) X
1122411 24" Double Ring Destroyer Style 

Steering Wheel, 10 degree dish,3/4" 

tapered hub (65-01) X
1222411 24"Double Ring Destroyer Style 

Steering Wheel with Wood Grips, 10 

degree dish, 3/4' tapered hub (65-

01) X

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

1521111 11"Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 3/4 

"tapered hub (65-01) X
1521611 15-1/2"Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 3/4" 

tapered hub (65-01) X
1521611ES 15 1/2"Destroyer Steering Wheel, 10 

degree dish, 3/4" tapered shaft, 

exteneded spoke in line with keyway, 

fully welded (65-01) X
1521611ES-1 15 1/2"Destroyer Steering Wheel, 10 

degree dish, 3/4" tapered shaft, 

exteneded spoke in line with keyway, 

fully welded (65-01) X
1521617 15 1/2" Six Spoke Destroyer Style 

Steering Wheel,10 degree dish,1"  

straight hub (65-01) X
1521621 15-1/2" Six Spoke Destroyer Style 

Steering Wheel, 22 degree dish, 3/4" 

tapered hub (65-01) X
1521627 15 1/2" Six Spoke Destroyer Style 

Steering Wheel, 22 degree dish, 1"  

straight hub (65-01) X
1521721 17" Six Spoke Destroyer Style 

Steering Wheel, 22 degree dish, 3/4" 

tapered hub (65-01) X
1521811 18" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 3/4"  

tapered hub (65-01) X
1521817 18" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 1" 

straight hub (65-01) X
1522011 20" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 3/4"  

tapered hub (65-01) X
1522211 22" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 3/4"  

tapered hub (65-01) X
1522411 24" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 3/4" 

tapered hub (65-01) X
1531111K-H 11" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 3/4" 

tapered hub, with control knob (glass 

ball bearings) (65-01) X
1532017 20"Six Spoke Destroyer Style 

Wheel, 10 degree dish, 1" straight 

hub (65-01) X
1532217 22" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 1"  

straight hub (65-01) X
1532417 24" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 1"  

straight hub (65-01) X
1532811 28" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 3/4"  

tapered hub (65-01) X
1532817 28" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 1"  

straight hub (65-01) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

1533011 30" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 3/4" 

tapered hub (65-01) X
1533017 30" Six Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 1"  

straight hub (65-01) X
1721321 13-1/2" Five Spoke Destroyer Style 

Steering Wheel, 22 degree dish, 3/4"  

tapered hub (65-01) X
1721511 15 1/2" Five Spoke Destroyer Style 

Steering Wheel, 10 degree dish, 3/4"  

tapered hub (65-01) X
1721517 15 1/2" Five Spoke Destroyer, 10 

degree dish, 1" straight hub (65-01) X
1721521 15-1/2" Five Spoke Destroyer Style 

Steering Wheel, 22 degree dish, 3/4" 

tapered hub (65-01) X
1721527 15 1/2" Five Spoke Destroyer Style 

Steering Wheel, 22 degree dish, 1" 

straight hub (65-01) X
172152X 15-1/2"Five Spoke Steering Wheel, 

22 Deg., Add-in Hub (65-01) X
1731321FG 13-1/2"Five Spoke Finger Grip 

Destroyer Style Steering Wheel, 22 

degree dish, 3/4" tapered hub (65-

01) X
1731321FGK 13 1/2" Destroyer Style Steering 

Wheel with Control Knob, 22 degree 

dish, 3/4" tapered hub (65-01)
X

1731321FGK-H 13.5" Five Spoke Destroyer Style 

Steering Wheel, 22 degree dish, 3/4" 

tapered hub, with control knob (glass 

ball bearings) (65-01) X
1731421P2 14" Five Spoke  Destroyer Steering 

Wheel with polyurethane grip, 22 

Deg dish, 3/4" tapered shaft (65-02) X
1731521FG 15 1/2"Five Spoke Finger Grip 

Destroyer Style Steering Wheel, 22 

degree dish, 3/4" tapered hub (65-

01) X
1731521FGK 15 1/2"Destroyer Style Steering 

Wheel with Control Knob, 22 degree 

dish, 3/4" tapered hub (65-01)
X

1731621P2 16"Five Spoke  Destroyer Steering 

Wheel with polyurethane grip, 22 

Deg dish, 3/4" tapered shaft (65-02) X
2111811 18"Five Spoke Helmsmen Wheel, 10 

degree dish, 3/4'" tapered hub (65-

01) X
2222411 24"Six Spoke Helmsmen Wheel, 10 

degree dish, 3/4"  tapered hub (65-

01) X
30991 Wiper Motor, HD 12 Volt, 2 1/2" 

64mm) shaft  (65-04) X
30991-60L Wiper HD 12 Volt 2 1/2"shaft - 

PRESET TO 60 DEGREES, LEFT 

PARK  (65-04) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

30992 Wiper Motor, HD 24 Volt, 2 1/2" 

(64mm) shaft  (65-04) X
31001 Wiper Motor, Standard 12- volt, 2 

1/2"shaft  (65-04) X
31011 Wiper Motor Kit, Standard, 12 V, 2-

1/2"Shaft, Arm, and 11" blade  (65-

04) X
31014 Wiper Motor Kit, Standard, 12V, 2-

1/2"Shaft, Arm, and 14" blade  (65-

04) X
31111 Wiper blade 11"  (65-04) X
31113 Wiper Blade 13"  (65-04) X
31114 Wiper blade 14"  (65-04) X
31121 Wiper Blade 21"  (65-04) X
31130 Windshield Washer Tank & pump, 

12Volt.  Includes mounting bracket, 

pigtail connector, 2 fixed mounted 

sprayers, T connector hose  (65-04)
X

31131 Windshield Washer Tank & pump, 

24 Volt.  Includes mounting bracket, 

pigtail connector, 2 fixed mounted 

sprayers, T connector, hose  (65-04)
X

3171811 18"Heavy Duty Flat Spoke Steering 

Wheel, 10 degree dish, 3/4" tapered 

hub  (65-01) X
3171811K 18"Heavy Duty Flat Spoke Steering 

Wheel with control knob, 10 degree 

dish, 3/4"tapered hub  (65-01) X
3171811V 18"Flatspoke w/1" tubing, weld at top 

of flat spoke (Vac-Tron)   (65-01)
X

3171817 18"Heavy Duty Flat Spoke Steering 

Wheel, 10 degree dish, 1" straight 

hub  (65-01) X
3171821 18"Heavy Duty Flat Spoke Steering 

Wheel, 22 degree dish, 3/4" tapered 

hub  (65-01) X
31991 Wiper Motor, HD 12 Volt, 1 1/2" 

(38mm) shaft  (65-04) X
31992 Wiper Motor, HD 24 Volt, 1 1/2" 

(38mm) shaft  (65-04) X
32010 Wiper Control System with Switch 

for 1 to 3 Motors, 12V  (65-04) X
32011 Wiper Control System with Switch 

for 1 to 3 Motors, 24V  (65-04) X
32991 Wiper Motor, HD 12 Volt, 3 1/2" 

90mm) shaft  (65-04) X
33001 Wiper Motor, Standard Waterproof, 

80/110 Degree 12V  (65-04) X
33002 Wiper Motor Kit, Standard 

Waterproof, 12V, 2-1/2"Shaft,  Arm, 

and 11" blade  (65-04) X
33003 Wiper Motor Kit, Standard 

Waterproof, 12V, 2-1/2"Shaft,  Arm, 

and 14" blade  (65-04) X
33011 Wiper blade, 11"  (65-04) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

33012 Wiper blade, 12"  (65-04) X
33014 Wiper blade, 14"  (65-04) X
33016 Wiper blade, 16"  (65-04) X
33018 Wiper blade, 18"  (65-04) X
33020 Wiper blade, 20"  (65-04) X
33022 Wiper blade, 22"  (65-04) X
33024 Wiper blade, 24"  (65-04) X
33111 Wiper blade, 11", stainless steel  (65-

04) X
33112 Wiper blade, 12", stainless steel  (65-

04) X
33114 Wiper blade, 14", stainless steel  (65-

04) X
33116 Wiper blade, 16", stainless steel  (65-

04) X
33118 Wiper blade, 18", stainless steel  (65-

04) X
33120 Wiper blade, 20", stainless steel  (65-

04) X
33122 Wiper blade, 22", stainless steel  (65-

04) X
33124 Wiper blade, 24", stainless steel  (65-

04) X
33611 Waterproof HD Wiper Motor, 12V, 

1.5" (25mm) shaft  (65-04) X
33612 Waterproof HD Wiper Motor, 24V, 

1.5" (25mm) shaft  (65-04) X
33621 Waterproof HD Wiper Motor, 12V, 

2.5" (50mm) shaft  (65-04) X
33622 Waterproof HD Wiper Motor, 24V, 

2.5" (50mm) shaft  (65-04) X
33631 Waterproof HD Wiper Motor, 12V, 

3.5" (75mm) shaft  (65-04) X
33632 Waterproof HD Wiper Motor, 24V, 

3.5" (75mm) shaft  (65-04) X
33640 Deluxe wiper arm, stainless 

steel/black, 12"18"  (65-04) X
33641 Deluxe wiper arm, stainless 

stee/black, 19"-24"  (65-04) X
33650 Deluxe wiper arm with J hook, 

stainless steel/black, 12" - 18"  (65-

04) X
33651 Deluxe wiper arm with J hook, 

stainless steel/black, 19" - 24"  (65-

04) X
33660 Deluxe wiper arm with adjustable tip, 

stainless steel/black, 12" - 18"  (65-

04) X
33661 Deluxe wiper arm with adjustable tip, 

staliness steel/black, 19" - 24"  (65-

04) X
33670 Deluxe wiper arm Pantograph, 

stainless steel/black, 12" - 18"  (65-

04) X
33671 Deluxe wiper arm, Pantograph, 

stainless steel/black, 19"-24"  (65-

04) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

33680 Deluxe wiper arm, for standard 

motors, 11"  (65-04) X
33892 Wiper Motor, HD 24 Volt, 3 1/2"  

(90mm) shaft  (65-04) X
40239 Battery Switch 12V Red Knob 

Water&Fume Proof  (65-10) X
40400 3-Position Rocker Switch for Wiper 

Motors  (65-07) X
4161321FG 13 1/2" Flat Spoke Steering Wheel, 

with Finger Grips, 22 degree dish, 

3/4" tapered hub  (65-01) X
4161321FGK 13 1/2" Flat Spoke Steering Wheel, 

with Finger Grips and Control Knob, 

22 degree dish, 3/4" tapered hub  

(65-01) X
4161511FG 15 1/2" Flat Spoke Steering Wheel, 

with Finger Grips, 10 degree dish, 

3/4"  tapered hub  (65-01) X
4161517FG 15 1/2" Flat Spoke Steering Wheel, 

with Finger Grips, 10 degree dish, 1"  

straight hub  (65-01) X
4161521FG 15 1/2" Flat Spoke Steering Wheel, 

with Finger Grips, 22 degree dish, 

3/4"  tapered hub  (65-01) X
4161521FGK 15 1/2" Flat Spoke Steering Wheel, 

with Finger Grips and Control Knob, 

22 degree dish, 3/4"  tapered hub  

(65-01) X
4161527FG 15 1/2" Flat Spoke Steering Wheel, 

with Finger Grips, 22 degree dish, 1"  

straight hub  (65-01) X
4161527FGK 15 1/2" Flat Spoke Steering Wheel, 

with Finger Grips and Control Knob, 

22 degree dish, 1"  straight hub  (65-

01) X
4261321FGK 13 1/2" Euro Sport Flatspoke 

Steering Wheel, with Finger Grips 

and Control Knob, 22 degree dish. 

3/4"  tapered hub  (65-01) X
4261521FG 15 1/2" Euro Sport Flatspoke 

Steering Wheel, with Finger Grips, 

22 degree dish. 3/4"  tapered hub  

(65-01) X
4261521FGK 15 1/2" Euro Sport Flatspoke 

Steering Wheel, with Finger Grips 

and Control Knob, 22 degree dish. 

3/4"  tapered hub  (65-01) X
4361321FG 13 1/2" Orion Steering Wheel, with 

Finger Grips, 22 degree dish, 3/4"  

tapered hub  (65-01) X
4361321FGK 13 1/2" Orion Steering Wheel, with 

Finger Grips and Control Knob, 22 

degree dish, 3/4"  tapered hub  (65-

01) X
4361521FG 15 1/2" Orion Steering Wheel, with 

Finger Grips, 22 degree dish, 3/4"  

tapered hub  (65-01) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

4361521FGK 15 1/2" Orion Steering Wheel, with 

Finger Grips and Control Knob, 22 

degree dish, 3/4"  tapered hub  (65-

01) X
50000 15 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips, Cast 316 

Stainless Steel, 1"  straight hub, 

includes 3/4" center cap/nut  (65-06)
X

50001 15 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips and 

Control Knob, Cast 316 Stainless 

Steel, 1" straight hub, includes 3/4"  

center cap/nut  (65-06) X
50002 15 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips, Cast 316 

Stainless Steel, 3/4" tapered hub, 

includes 5/8" center nut/cap  (65-06)
X

50003 15 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips and 

Control Knob, Cast 316 Stainless 

Steel, 3/4"   tapered hub, includes 

5/8' center cap/nut  (65-06) X
50004 15 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips, Cast 316 

Stainless Steel, 1"  straight hub flush 

mount, includes 1/2" center bolt  (65-

06) X
50005 15 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips and 

Control Knob, Cast 316 Stainless 

Steel, 1"  straight hub flush mount, 

includes 1/2" center bolt  (65-06) X
50006 15 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips, Cast 316 

Stainless Steel, 3/4" tapered hub, 

includes 1/2"  center nut/cap  (65-06)
X

50007 15 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips and 

Control Knob, Cast 316 Stainless 

Steel, 3/4"  tapered hub, includes 

1/2" center nut/cap  (65-06) X
50010 Control Arm, Standard, Cast 316 

Stainless Steel  (65-06) X
50010W 316SS control arm WITHOUT 

LOGO, bulk pack  (65-06) X
50015 Arm Control Arm, Yacht Single Lever, 

Side Mount 316 Stainless Steel  (65-

06) X
50015 Set Screw 

Splined

Set Screw for splined insert on 

50015/50016 handles  (65-06) X
50016 Control Arm, Yacht Single Lever, 

Side Mount, 316 Stainless Steel with 

Bow Thruster Switch  (65-06) X
50020 Throttle Knob, Red, 316 Cast 

Stainless Steel, 1 1/2" Diameter  (65-

06) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

50021 Throttle Knob, Red, 316 Cast 

Stainless Steel, 1 1/2" Diameter - 

Bulk Pack  (65-06) X
50025 Throttle Knob, Gold, 316 Cast 

Stainless Steel, 1 1/2" Diameter  (65-

06) X
50030 Shift Knob, 316 Cast Stainless 

Steel, 1 1/2" diameter  (65-06) X
50031 Shift Knob, 316 Cast Stainless 

Steel, 1 1/2" diameter - Bulk Pack  

(65-06) X
50040 Shift Knob, 316 Cast Stainless 

Steel, 1 1 7/8" diameter - For 

Hynautic Control Arms  (65-06) X
50044 Throttle Knob, Red, 316 Cast 

Stainless Steel, 1 1 7/8" diameter - 

For Hynautic Control Arms  (65-06) X
50048 Throttle Knob, Gold, 316 Cast 

Stainless Steel, 1 1 7/8" diameter - 

For Hynautic Control Arms  (65-06) X
50050 Control Arm Set, Red, includes two 

arms, red throttle knob, shift knob  

(65-06) X
50055 Control Arm Set, Gold, includes two 

arms, gold throttle knob, shift knob  

(65-06) X
51002 Cap - scalloped for TFX wheel, with 

5/8-18UNF  (65-06) X
51300 13 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips, Cast 316 

Stainless Steel, 1" straight hub, 

includes 3/4" center cap/nut  (65-06)
X

51301 13 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips and 

Control Knob, Cast 316 Stainless 

Steel, 1" straight hub, includes 3/4" 

center cap/nut  (65-06) X
51302 13 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips, Cast 316 

Stainless Steel, 3/4" tapered hub, 

includes 5/8"  center nut/cap  (65-06)
X

51304 13 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips, Cast 316 

Stainless Steel, 1" straight hub flush 

mount, includes 1/2" center bolt  (65-

06) X
51306 13 1/2" Ongaro Yacht Steering 

Wheel, with Finger Grips, Cast 316 

Stainless Steel, 3/4" tapered hub, 

includes 1/2" center nut/cap  (65-06)
X

5321198 Stainless Steel Hand Wheel, 11" 

Drilled and Tapped Holes in Hub  

(65-01) X
5322090 20" Sailboat Steering Wheel, 3/8' 

Spokes, 1" straight bore  (65-01) X
5322290 22" Sailboat Steering Wheel, 3/8" 

Spokes, 1" straight bore  (65-01) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

5322490 24" Sailboat Steering Wheel, 3/8" 

Spokes, 1" straight bore  (65-01) X
5332690 26" Sailboat Steering Wheel, 3/8" 

Spokes, 1" straight bore  (65-01) X
5332890 28" Sailboat Steering Wheel, 3/8" 

Spokes, 1" straight bore  (65-01) X
5333090 30" Sailboat Steering Wheel, 1/2" 

Spokes, 1" straight bore  (65-01) X
5333290 32" Sailboat Steering Wheel, 1/2" 

Spokes, 1" straight bore  (65-01) X
5333690 36" Sailboat Steering Wheel, 1/2" 

Spokes, 1" straight bore  (65-01) X
60002 Drink Holder 4.25",Stainless Steel 

with Flange Gasket, Drain & Plug  

(65-06) X
60007 Rim Gasket/With Double sided tape 

for Drink Holder #60002 X
60008 Bottom Gasket Pad for 60002 Drink 

Holder X
60009 Drain, Black w/plug for 3/8" hose (fits 

60002 drink cup holder) X
60009W Drain, White w/plug for 3/8" Hose 

(fits 60002 drink cup holder) X
60012 Drink Holder 3.5", Stainless Steel 

with Flange Gasket  (65-06) X
60012-D Disc, 2 ½” Diameter, 1/16” Thick 60 

Duro Neoprene w/PSA - fits 60012 

drink cup holder X
60013 Drain Plug 1/2"  Black Plastic (snaps 

on underside of 60002) X
700ND Nut driver for cast wheel nuts   (65-

07) X
702NUT Center Nut, Standard, Cast 

Stainless Steel, 12mm (M12x1.75)   

(65-01) X
7101321FGK 13 1/2" Vision Cast Stainless Steel 

with Finger Grips and Control Knob, 

22 degree dish, 3/4"  tapered hub  

(65-01) X
7101521FGK 15 1/2" Vision Cast Stainless Steel 

with Finger Grips and Control Knob, 

22 degree dish, 3/4"  tapered hub  

(65-01) X
712NUT Center Nut, Standard, Cast 

Stainless Steel, 1/2" thread (1/2 - 20)  

(65-01) X
7141321FG 13 1/2" Vision FX cast stainless 

steel steering wheel  (65-01) X
7141321FGK 13 1/2" Vision FX standard knob, 

cast stainless steel steering wheel  

(65-01) X
7141521FG 15 1/2"  Vision FX cast stainless 

steel steering wheel  (65-01) X
7141521FGK 15 1/2" Vision FX standard knob, 

cast stainless steel steering wheel  

(65-01) X
7161321FGK 13 1/2" Vision Elite, ball bearing 

knob, cast stainless steel steering 

wheel   (65-01) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

7161521FGK 15 1/2" Vision Elite ball bearing 

knob, cast stainless steel steering 

wheel  (65-01) X
7201321FG 13 1/2" Evolution Cast Stainless 

Steel Steering Wheel, with Finger 

Grips, 22 degree dish, 3/4" tapered 

hub  (65-01) X
7201321FGK 13 1/2" Evolution Cast Stainless 

Steel Steering Wheel, with Finger 

Grips and Control Knob, 22 degree 

dish, 3/4" tapered hub  (65-01) X
7201521FG 15 1/2" Evolution Cast Stainless 

Steel Steering Wheel, with Finger 

Grips, 22 degree dish, 3/4" tapered 

hub  (65-01) X
7201521FGK 15 1/2" Evolution Cast Stainless 

Steel Steering Wheel, with Finger 

Grips and Control Knob, 22 degree 

dish, 3/4"  tapered hub  (65-01) X
7211321FGK 13 1/2" Evolution Cast stainless 

steel steering wheel with all stainless 

steel control knob   (65-01)
X

7211521FGK 15 1/2" Evolution Cast stainless 

steel steering wheel with all stainless 

steel control knob   (65-01)
X

7221321FG 13 1/2" Evo Cast Stainless Steel 

Steering Wheel, with Finger Grips, 

22 degree dish, 3/4" tapered hub  

(65-01) X
7221321FGK 13 1/2" Evo Cast Stainless Steel 

Steering Wheel, with Finger Grips 

and Control Knob, 22 degree dish, 

3/4" tapered hub  (65-01) X
7221521FG 15 1/2"Evo Cast Stainless Steel 

Steering Wheel, with Finger Grips, 

22 degree dish, 3/4"  tapered hub  

(65-01) X
7221521FGK 15 1/2" Evo Cast Stainless Steel 

Steering Wheel, with Finger Grips 

and Control Knob, 22 degree dish, 

3/4" tapered hub  (65-01) X
7231321FGK Evo 13.5" 316 cast stainless spoke,  

black plastic control knob, black 

plastic cap  (65-01) X
7231521FGK Evo 15.5" 316 cast stainless spoke,  

black plastic control knob, black 

plastic cap  (65-01) X
7241321FG 13 1/2" Evo Pro Cast Stainless Steel 

Steering Wheel, Black Polyurethane 

Grip, 22 degree dish, 3/4" tapered 

hub  (65-01) X
7241321FGK 13 1/2"Evo Pro Cast Stainless Steel 

Steering Wheel, Black Polyurethane 

Grip and Control Knob, 22 degree 

dish, 3/4" tapered hub  (65-01)
X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

7241521FG 15 1/2" Evo Pro Cast Stainless Steel 

Steering Wheel, Black Polyurethane, 

22 degree dish, 3/4" tapered hub  

(65-01) X
7241521FGK 15 1/2" Evo Pro Cast Stainless Steel 

Steering Wheel,  Black Polyurethane 

and Control Knob, 22 degree dish, 

3/4" tapered hub  (65-01)
X

7251321FGK Evo Pro 13.5" 316 cast stainless 

spoke,  stainless control knob (Evo 

knob)  (65-01) X
7251521FGK Evo Pro 15.5"316 cast stainless 

spoke,  stainless control knob (Evo 

knob)  (65-01) X
7261321FGK Evo Pro 13.5" 316 cast stainless 

spoke,  stainless steel "Elite" knob  

(65-01) X
7261521FGK Evo Pro 15.5" 316 cast stainless 

spoke,  stainless steel "Elite" knob  

(65-01) X
7301521FGK 15 1/2" Model 730 Stainless Steel 

Steering Wheel, with Finger Grips 

and Control Knob, 22 degree dish, 

3/4" tapered hub  (65-01) X
758NUT Center Nut, Standard, Cast 

Stainless Steel, 5/8" thread (5/8 - 18)  

(65-01) X
BEZ0200 Bezel, Chromed ABS Plastic, 2" 

Rev. D  (65-07) X
BEZ0201 Bezel, Black Chromed ABS Plastic 

2"  (65-07) X
BEZ0300 Bezel, Chromed ABS Plastic, 3"  (65-

07) X
BEZ0301 Bezel, Black Chromed ABS Plastic 

3"  (65-07) X
BEZ0500 Bezel, Chromed ABS Plastic, 5"  (65-

07) X
CAP0100 Cap, chromed plastic, snap in for 

destroyer style steering wheels  (65-

07) X
CAP0101 Plastic base for SS Large caps  (65-

07) X
CAP0102 Screw Cover, ABS Plastic  (65-07) X
CAP0103 Trim cap, ABS Chromed, for Stella 

wheels  (65-07) X
CAP0104 Cap, Black Plastic for Standard 

Control Knob  (65-07) X
CAP0200 Trim cap, ABS unfinished X
CAP0205-LZ Trim cap, scalloped, electroplated  

ABS matte silver, for Stella wheels  

(65-07) X
CAP0300 Faux nut stainless steel  (65-01) X
CAP0301-1 Faux nut base 5/8" for cast steering 

wheels  (65-07) X
CAP0301-2 Faux nut base 1/2" for cast steering 

wheels  (65-07) X
CAP0302 Faux Center Nut, ABS Chrome plate  

(65-07) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

CAP0400 Aluminum cap for Stella wheels, 

mirror polish finish X
CAP2L Black Plastic Cap, Large - Fits 

Model 110, 120, 150, 170, 220  (65-

07) X
CAP2S Black Plastic Cap, Small - Fits 

Model 310, 410, 426  (65-07) X
CAP436BP Cap for Orion Model 436, black 

plastic  (65-07) X
CAP436SS Cap for Orion Model 436, stainless 

steel  (65-01) X
CAPSLG Stainless Steel Cap, Large - Fits 

Model 110, 120, 150, 170, 220  (65-

01) X
CAPSSM Stainless Steel Cap, Small - Fits 

Model 310, 410, 426  (65-01) X
CC1L Counter-Bored Cap, 1-3/8" Large  

(65-07) X
CC1S Counter-Bored Cap 1-3/8" Small  (65-

07) X
CC2L Counter-Bored Black Plastic Caps, 1-

7/16" Large  (65-07) X
CC2S Counter-Bored Cap 1-7/16" Small  

(65-07) X
CC3L Counter-Bored Black Plastic Cap, 1-

1/2" Large  (65-07) X
CC3S Counter-Bored Cap 1-1/2" Small  (65-

07) X
CC4L Counter-Bored Black Plastic Cap, 1-

3/4" Large  (65-07) X
CC4S Counter-Bored Cap 1-3/4" Small  (65-

07) X
CC5L Counter-Bored Cap, 1-15/16"Large  

(65-07) X
CC6L Counter-Bored Cap, 2" Large  (65-

07) X
CC6S Counter-Bored Cap 2" Small  (65-07)

X
CCIT Counter-Bored Cap-Black 

(counterbore 44.2mm cc or 1.74')  

(65-07) X
CN100415 Cast SS Center nut with 1 black 

orings - 1/2-20   (65-01) X
CN100416 Center cap for cast wheels - black 

plastic with SS band   (65-07) X
CN100417 Cast SS Center nut with 1 black 

orings - 5/8-18  (65-01) X
CN100418 Cast SS Center nut with 1 black 

orings - M12-1.75   (65-01) X
GRB0100 Grab rail casting, 316SS 9.1" 

(232mm) long, mirror polish finish  

(65-01) X
GRB0100-R-1 Grip for GRB100 - Santoprene 8211-

55 with UV inhibitor added, color 

BLACK  (65-09) X
GRB0100-R-2 Grip for GRB0100 - Santoprene 

8211-55 with UV inhibitor addes, 

color FRENCH VANILLA   (65-09) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

GRB0100-R-3 Grip for GRB0100 - Santoprene 

8211-55 with UV inhibitor addes, 

color BROWN  (65-09) X
GRB0200 Grab handle, top mount, cast 316SS 

mirror polish  (65-01) X
GRB0200-A Spacer for GRB0200 top mount rail 

(2 per rail)  (65-07) X
GRB0200-R-1 Grab bar rubber, top mount, BLACK.   

(65-09) X
GRB0400 Grab handle, undermount, all cast 

316SS (65-01) X
GRB0500 Grab handle, top mount, all cast 

316SS (65-01) X
HUB6002 6 Hole die cast aluminum hub, black 

powder coating (SW-100321) X
HUB6010 Splined hub, 6 hole X
HUBEXT6 Hub extension 1.5"- 6 hole pattern - 

1.5" extension (SW-100340) - 

requires 6 M6 x 55 screws X
HUBEXT7 Hub extension 1.5" extension 7 hole 

pattern (SW-100350) X
IPR3FAD Switch, push button for 50016 X
KP088101 Delta 103 Hard Water Wheel, black 

poly pro 13.5" (16/cs) (requires 

medallion holder) X
KP088101-WM Delta 103 Hard Water Wheel, black 

poly pro X
KP089101 Delta 103 Hard Water Wheel, black 

poly pro with soft grip 13.5" (12/cs) X
KP10C101 1690 Huron 1  suede 13.5" (10/cs) X
KP118101 1691 Huron 2 soft touch EQ steering 

wheel, Black spokes w/ Black soft 

grips (10/cs) X
KP118101-WM 1691 Huron 2 black poly pro/vinyl 

13.5" X
Medallion-Black Black Medallion Holder (35.7mm cc)

X
PU011101 Fantasy, black spoke, black 

polyurethane, all polyurethane, 

socket head screws 3/4" tapered 

hub X
PU011111 Fantasy, black spoke, black 

polyurethane, burl inserts, socket 

head screws, 3/4" tapered hub X
PU012131 Fantasy, black spoke, black 

polyurethane, silver inserts, 

countersunk screws, 3/4" tapered 

hub X
PU013100 Fantasy, brushed spoke SH, black 

polyurethane, all polyurethane X
PU013101 Fantasy, brushed spoke, black 

polyurethane, all polyurethane, 

socket head screws, 3/4"  tapered 

hub X
PU013111 Fantasy, brushed spoke, black 

polyurethane, burl inserts, socket 

head screws, 3/4"  tapered hub X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

PU013131 Fantasy, brushed spoke, black 

polyurethane, silver inserts, socket 

head screws, 3/4" tapered hub X
PU016101 Fantasy, polished spoke, black 

polyurethane, countersunk screws, 

no inserts, 3/4"  tapered hub X
PU016111 Fantasy, polished spoke, black 

polyurethane, burl inserts, 

countersunk screws X
PU016121 Fantasy, polished spoke, black 

polyurethane, carbon inserts, 

countersunk screws, 3/4"  tapered 

hub X
PU021101 Folletto, black spoke, black 

polyurethane, all polyurethane, 

socket head screws, 3/4" tapered 

hub X
PU021111 Folletto, black spoke, black 

polyurethane, burl inserts, socket 

head screws, 3/4"  tapered hub X
PU023101 Folletto, brushed spoke, black 

polyurethane, all polyurethane, 

socket head screws, 3/4"  tapered 

hub X
PU023111 Folletto, brushed spoke, black 

polyurethane, burl inserts, socket 

head screws, 3/4"  tapered hub X
PU023121 Folletto, brushed spoke, black 

polyurethane, carbon inserts, socket 

head screws, 3/4"  tapered hub
X

PU023131 Folletto, brushed spoke, black 

polyurethane, silver inserts, socket 

head screws, 3/4"  tapered hub X
PU025101 Folletto, polished spoke, black 

polyurethane, all polyurethane, 

socket head screws, 3/4"  tapered 

hub X
PU025131 Folletto, polished spoke, black 

polyurethane, silver inserts, socket 

head screws, 3/4"  tapered hub X
PU026101 Folletto, polished spoke, black 

polyurethane, all polyurethane, 

countersunk screws, 3/4"  tapered 

hub X
PU026111 Folletto, polished spoke, black 

polyurethane, burl inserts, 

countersunk screws, 3/4"  tapered 

hub X
PU026121 Folletto, Polished spoke, black 

polyurethane, carbon inserts, 

countersunk screws, 3/4"  tapered 

hub X
PU026201 Folletto, polished spoke, beige 

polyurethane, all polyurethane, 

countersunk screws, 3/4"  tapered 

hub X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

PU026401 Folletto, polished spoke, CAMEL 

polyurethane, all polyurethane, 

countersunk screws, 3/4"  tapered 

hub X
PU031100 Torcello, all black polyurethane, 

black anodized spoke socket head 

screws NO HUB X
PU031101-00 Torcello, all black polyurethane, 

black anodized spoke socket head 

screws, includes assembled 3/4" 

tapered hub X
PU033101 Torcello, black polyurethane, 

brushed anodized spoke, black 

aluminum 3/4" tapered hub X
PU033103-01 Torcello, all black polyurethane, 

brushed anodized spoke socket 

head screws, includes assembled 

splined hub X
PU035100 Torcello, all black polyurethane, 

polished spoke socket head screws 

NO HUB X
PU035101-00 Torcello, all black polyurethane, 

polished spoke socket head screws, 

includes assembled 3/4" tapered 

hub X
PU035103-01 Torcello, all black polyurethane, 

polished spoke socket head screws, 

includes assembled splined hub
X

PU035104-00 Torcello, all black polyurethane, 

polished spoke socket head screws, 

includes assembled 3/4" tapered 

hub X
PU036101-00 Torcello, all black polyurethane, 

polished spoke countrsunk screws, 

includes assembled 3/4" tapered 

hub X
PU051114-12 All black polyurethane, black spoke, 

ABS chrome spoke trim insert, burl 

decorative rim trim inserts, ABS 

chrome center cap X
PU061104-00 Torcello Lite, black polyurethane, 

black spoke, with attached plastic 

hub X
PU063104-00 Torcello Lite, black polyurethane, 

brushed spoke, with attached plastic 

hub X
PU085241 Torcello Elite, BLACK leather 

wrapped, polished SS spoke, with 

attached hub X
PU081B11 Torcello Elite, BEIGE leather 

wrapped, black spoke, with attached 

hub X
PU105111-04 All black polyurethane, polished SS 

spoke, burl spoke insert, ABS 

chrome center cap X
PU205101-04 All black polyurethane, polished ss 

spoke, ABS chrome center cap, with 

attached hub X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

PU301404-44 All black polyurethane, black 

aluminum spoke, ABS chrome trim 

and center cap, attached hub X
PU400FF1 All black polyurethane, black 

aluminum spoke, silver spoke trim 

and center cap, with attached hub X
PU501404 All black polyurethane, black 

aluminum spoke, ABS chrome 

spoke trim and center cap, with 

attached hub X
7141321FG-3 13 1/2" Vision FX cast stainless 

steel steering wheel includes SS 

faux center nut, 1/2" and 5/8"  bases  

(65-01) X
7141321FGK-3 13 1/2" Vision FX standard knob, 

cast stainless steel steering wheel 

includes SS faux center nut, 1/2"  

and 5/8"  bases  (65-01) X
7141521FG-3 15 1/2" Vision FX cast stainless 

steel steering wheel includes SS 

Faux center nut, 1/2"  and 5/8" 

bases  (65-01) X
7141521FGK-3 15 1/2" Vision FX standard knob, 

cast stainless steel steering wheel 

includes SS faux center nut, 1/2" 

and 5/8" bases  (65-01) X
7161321FGK-3 13 1/2" Vision Elite, ball bearing 

knob, cast stainless steel steering 

wheel includes SS Faux nut, 1/2" 

and 5/8" base  (65-01) X
7161321FGK-4 13 1/2" Vision Elite, ball bearing 

knob, cast stainless steel steering 

wheel includes ABS Chrome Faux 

nut, 1/2"  and 5/8" base  (65-01) X
7161521FGK-3 15 1/2" Vision Elite ball bearing 

knob, cast stainless steel steering 

wheel includes SS faux center nut, 

1/2" and 5/8" bases  (65-01) X
7161521FGK-4 15 1/2" Vision Elite ball bearing 

knob, cast stainless steel steering 

wheel includes ABS Chrome faux 

center nut, 1/2" and 5/8" bases  (65-

01) X
7401321FG 13 1/2" Full cast steering wheel, 

black spoke inserts, 3/4" tapered 

shaft  (65-01) X
7401321FGK 13 1/2" Full cast steering wheel with 

control knob, black spoke inserts, 

3/4" tapered shaft  (65-01) X
7401521FG 15 1/2" Full cast steering wheel, 

black spoke inserts, 3/4" tapered 

shaft  (65-01) X
7401521FGK 15 1/2" Full cast steering wheel with 

control knob, black spoke inserts, 

3/4" tapered shaft  (65-01) X
7411321FG 13 1/2" Full cast steering wheel, 

open spokes, 3/4" tapered shaft  (65-

01) X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

7411321FGK 13 1/2" Full cast steering wheel with 

control knob, open spokes, 3/4" 

tapered shaft  (65-01) X
7411521FG 15 1/2" Full cast steering wheel, 

open spokes, 3/4" tapered shaft  (65-

01) X
7411521FGK 15 1/2" Full cast steering wheel with 

control knob, open spokes, 3/4" 

tapered shaft  (65-01) X
7421321FG 13 1/2" Full cast steering wheel, 

solid spoke, 3/4" tapered shaft  (65-

01) X
7421321FGK 13 1/2" Full cast steering wheel with 

control knob, solid spoke, 3/4" 

tapered shaft  (65-01) X
7421521FG 15 1/2" Full cast steering wheel, 

solid spoke, 3/4" tapered shaft  (65-

01) X
7421521FGK 15 1/2" Full cast steering wheel with 

control knob, solid spoke, 3/4" 

tapered shaft  (65-01) X
7461321FG 13.5" Black carbon fiber steering 

wheel X
7461321FGK 13.5" Black carbon fiber steering 

wheel with knob X
CAP0205 Trim cap, scalloped, electroplated  

ABS matte silver, for Stella wheels  

(65-07) X
CAP0303 Faux Center Nut for cast steering 

wheels, stainless steel,  includes 

5/8" and 1/2" (M12) base  (65-01) X
CAP0304 Faux Center Nut for cast steering 

wheels, ABS Chromed, includes 

5/8"and 1/2" (M12) base   (65-07) X
CAP0305 Faux Center Nut for cast steering 

wheels, stainless steel,  includes 

5/8" base   (65-01) X
CAP0306 Faux Center Nut for cast steering 

wheels, ABS Chromed, includes 5/8" 

base   (65-07) X
CAP0307 Faux Center Nut for cast steering 

wheels, stainless steel,  includes 

1/2" (M12) base   (65-01) X
CAP0308 Faux Center Nut for cast steering 

wheels, ABS Chromed, includes 1/2"  

(M12) base  (65-07) X
GRB0101 Grab Bar, cast stainless steel, black 

santoprene grip  (65-01) X
GRB0102 Grab Bar, cast stainless steel, 

french vanilla santoprene grip  (65-

01) X
GRB0201 Grab handle, top mount, cast 316SS 

mirror polish with black santoprene 

grip  (65-01) X
GRB0201-R Grab handle, top mount, cast 316SS 

mirror polish with black santoprene 

grip   (65-01)

HDW0016-01 Wheel stand, assembled X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

PU031101-11 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on spoke, attached 

3/4" tapered hub, black plastic cap
X

PU031101-12 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on spoke, attached 

3/4" tapered hub, chrome scallop 

cap X
PU031104-11 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on spoke, attached 

3/4" tapered hub, black plastic cap
X

PU031104-12 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on spoke, attached 

3/4" tapered hub, chrome scallop 

cap X
PU033101-12 Torcello, black polyurethane, 

brushed anodize spoke, socket head 

screws, with chrome trim on spoke, 

attached 3/4" tapered hub, chrome 

scallop cap X
PU033104-12 Torcello, black polyurethane, 

brushed anodize spoke, socket head 

screws, with chrome trim on spoke, 

attached 3/4" tapered hub, chrome 

scallop cap X
PU035101-12 Torcello, black polyurethane, 

polished spoke, socket head screws, 

with chrome trim on spoke, attached 

3/4" tapered hub, chrome scallop 

cap X
PU041141-01 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on rim only, 

attached 3/4" tapered hub, black 

plastic center cap X
PU041141-02 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on rim only, 

attached 3/4" tapered hub, chrome 

scalloped cap X
PU041141-12 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on rim and spoke, 

attached 3/4" tapered hub, chrome 

scallop cap X
PU041143-12 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on rim and spoke, 

attached splined hub, chrome 

scalloped cap X
PU041144-01 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on rim and spoke, 

attached 3/4" P hub, black plastic 

cap X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

PU041144-02 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on rim and spoke, 

attached 3/4" P hub, chrome 

scalloped cap X
PU041144-12 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on rim and spoke, 

attached 3/4" P hub, chrome 

scalloped cap X
PU04114B-12 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with chrome trim on rim and spoke, 

attached 3/4" tapered hub and hub 

exetension, chrome scallop cap
X

PU041151-13 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with matte silver trim on rim and 

spoke, attached 3/4" P hub, matte 

silver scalloped cap X
PU041154-13 Torcello, black polyurethane, black 

anodize spoke, socket head screws, 

with matte silver trim on rim and 

spoke, attached 3/4" P hub, matte 

silver scalloped cap X
PU043141-12 Torcello, black polyurethane, 

chrome trim on rim and spoke, 

brushed anodized spoke, socket 

head screws, attached 3/4": tapered 

hub X
PU043144-12 Torcello, black polyurethane, 

chrome trim on rim and spoke, 

brushed anodized spoke, socket 

head screws, attached 3/4": tapered 

hub X
PU045141-02 Torcello, black polyurethane, 

polished spoke, socket head screws, 

with chrome trim on rim only, 

attached 3/4" tapered hub, chrome 

scallop cap X
PU045141-11 Torcello, black polyurethane, 

polished spoke, socket head screws, 

with chrome trim on rim and spoke, 

attached 3/4" tapered hub, black 

plastic cap X
PU045141-12 Torcello, black polyurethane, 

polished spoke, socket head screws, 

with chrome trim on rim and spoke, 

attached 3/4" tapered hub, chrome 

scallop cap X
PU045144-02 Torcello, black polyurethane, 

polished spoke, socket head screws, 

with chrome trim on rim only, 

attached 3/4" tapered hub, chrome 

scallop cap X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

PU045144-11 Torcello, black polyurethane, 

polished spoke, socket head screws, 

with chrome trim on rim and spoke, 

attached 3/4" tapered hub, black 

plastic cap X
PU045144-12 Torcello, black polyurethane, 

polished spoke, socket head screws, 

with chrome trim on rim and spoke, 

attached 3/4" tapered hub, chrome 

scallop cap X
PU051111-12 Torcello Decorated, Burl ABS 

Sectors, black polyurethane, chrome 

spoke and rim trim rings, black 

anodize spoke, socket head screws, 

chromed scallop cap, 3/4" tapered 

hub X
PU051114-12 Torcello Decorated, Burl ABS 

Sectors, black polyurethane, chrome 

spoke and rim trim rings, black 

anodize spoke, socket head screws, 

chromed scallop cap, 3/4" tapered 

hub X
PU0511B1-12 Torcello Decorated, Royal 

Mahogany Matte sectors, black 

polyurethane, chorme spoke and rim 

trim rings, black anodize spoke, 

socket head screws, chromed 

scallop cap, 3/4" tapered hub
X

PU0511B1-13 Torcello Decorated, Royal 

Mahogany Matte sectors, black 

polyurethane, matte silver spoke and 

rim trim rings, black anodize spoke, 

socket head screws, matte silver 

scallop cap, 3/4" tapered hub X
PU0511B4-13 Torcello Decorated, Royal 

Mahogany Matte sectors, black 

polyurethane, matte silver spoke and 

rim trim rings, black anodize spoke, 

socket head screws, matte silver 

scallop cap, 3/4" tapered hub X
PU0511C1-13 Torcello Decorated, Flex Aluminum 

Matte sectors, black polyurethane, 

matte silver spoke and rim trim 

rings, black anodize spoke, socket 

head screws, matte silver scallop 

cap, 3/4" tapered hub X
PU0511C4-13 Torcello Decorated, Flex Aluminum 

Matte sectors, black polyurethane, 

matte silver spoke and rim trim 

rings, black anodize spoke, socket 

head screws, matte silver scallop 

cap, 3/4" tapered hub X
PU053111-12 Torcello Decorated, Burl ABS 

Sectors, black polyurethane, chrome 

spoke and rim trim rings, brushed 

anodize spoke, socket head screws, 

chrome scallop cap, 3/4" tapered 

hub X



Schmitt & Ongaro 

Item Number
Description

WARNING: Cancer 
-
www.P65Warnings.
ca.gov.

WARNING: 
Reproductive Harm -
www.P65Warnings.ca.g
ov.

WARNING: Cancer and 
Reproductive Harm -
www.P65Warnings.ca.gov.

PU055111-12 Torcello Decorated, Burl ABS 

Sectors, black polyurethane, chrome 

spoke and rim trim rings, polished 

spoke, socket head screws, chrome 

scallop cap, 3/4" tapered hub
X

PU0551D1-02 Torcello Decorated, Greywood 

(gloss) sectors, black polyurethane, 

chrome rim trim rings, chrome 

spoke, chromed scallop cap, 3/4" 

tapered hub X
PU0551D4-02 Torcello Decorated, Greywood 

(gloss) sectors, black polyurethane, 

chrome rim trim rings, chrome 

spoke, chromed scallop cap, 3/4" 

tapered hub X
PU105111-04 Burano, standard burl spoke trim, 

black polyurethane, polished 

stainless steel spokes, chrome 

knuckles and cap, assembled 3/4" 

taper aluminum hub X
PU1051B1-04 Burano, black pearl wood spoke 

trim, black polyurethane, polished 

stainless steel spokes, chrome 

knuckles and cap, assembled 3/4" 

taper aluminum hub X
PU1051C1-04 Burano, brushed midnight spoke 

trim, black polyurethane, polished 

stainless steel spokes, chrome 

knuckles and cap, assembled 3/4" 

taper aluminum hub X
PU205101-04 Mazzorbo steering wheel, polished 

cast SS spoke, black polyurethane, 

3/4" tapered hub X

Updated: 1/10/24

THIS WARNING IS GIVEN TO COMPLY WITH CALIFORNIA HEALTH AND SAFETY CODE 25249.6 AND DOES NOT 

CONSTITUTE AN ADMISSION OR A WAIVER OF RIGHTS.


	Website Prop 65

